
� No.174-20-1 �

No.174-20-1 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 3460 + 9569 = (2) 8662 + 8025 = (3) 9930 + 3449 =

(4) 32× 366 = (5) 5874 + 7351 = (6) 6321 + 8854 =

(7) 806× 71 = (8) 13008− 3384 = (9) 6528− 6368 =

(10) 18× 668 = (11) 974× 82 = (12) 33× 231 =

(13) 16580− 7478 = (14) 12807− 4025 = (15) 528 + 5947 =

(16) 8982 + 9736 = (17) 11228− 4954 = (18) 361 + 9737 =

(19) 9913 + 9533 = (20) 7199 + 672 =

� 13th-note �



� No.174-20-1 �

No.174-20-1 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 3460 + 9569 = 13029 (2) 8662 + 8025 = 16687 (3) 9930 + 3449 = 13379

(4) 32× 366 = 11712 (5) 5874 + 7351 = 13225 (6) 6321 + 8854 = 15175

(7) 806× 71 = 57226 (8) 13008− 3384 = 9624 (9) 6528− 6368 = 160

(10) 18× 668 = 12024 (11) 974× 82 = 79868 (12) 33× 231 = 7623

(13) 16580− 7478 = 9102 (14) 12807− 4025 = 8782 (15) 528 + 5947 = 6475

(16) 8982 + 9736 = 18718 (17) 11228− 4954 = 6274 (18) 361 + 9737 = 10098

(19) 9913 + 9533 = 19446 (20) 7199 + 672 = 7871

� 13th-note �



� No.174-20-2 �

No.174-20-2 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 4157 + 8673 = (2) 10176− 616 = (3) 5711 + 5200 =

(4) 892× 34 = (5) 7225− 57 = (6) 94× 232 =

(7) 7631 + 3938 = (8) 17470− 9912 = (9) 5526− 4396 =

(10) 9516− 4768 = (11) 8745− 7604 = (12) 11590− 3431 =

(13) 15182− 8735 = (14) 798× 75 = (15) 81× 742 =

(16) 9596 + 9301 = (17) 6069− 5196 = (18) 3984 + 9979 =

(19) 76× 140 = (20) 1591 + 5191 =

� 13th-note �



� No.174-20-2 �

No.174-20-2 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 4157 + 8673 = 12830 (2) 10176− 616 = 9560 (3) 5711 + 5200 = 10911

(4) 892× 34 = 30328 (5) 7225− 57 = 7168 (6) 94× 232 = 21808

(7) 7631 + 3938 = 11569 (8) 17470− 9912 = 7558 (9) 5526− 4396 = 1130

(10) 9516− 4768 = 4748 (11) 8745− 7604 = 1141 (12) 11590− 3431 = 8159

(13) 15182− 8735 = 6447 (14) 798× 75 = 59850 (15) 81× 742 = 60102

(16) 9596 + 9301 = 18897 (17) 6069− 5196 = 873 (18) 3984 + 9979 = 13963

(19) 76× 140 = 10640 (20) 1591 + 5191 = 6782

� 13th-note �



� No.174-20-3 �

No.174-20-3 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 840× 45 = (2) 36× 607 = (3) 785× 52 =

(4) 7404 + 6972 = (5) 71× 243 = (6) 70× 299 =

(7) 8958− 4759 = (8) 6743− 3883 = (9) 9097− 6088 =

(10) 9272− 7041 = (11) 3540 + 4387 = (12) 13241− 9417 =

(13) 281× 99 = (14) 3053 + 4845 = (15) 2694 + 7976 =

(16) 18418− 8720 = (17) 2740 + 6204 = (18) 3505 + 9384 =

(19) 9925− 826 = (20) 6816− 673 =

� 13th-note �



� No.174-20-3 �

No.174-20-3 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 840× 45 = 37800 (2) 36× 607 = 21852 (3) 785× 52 = 40820

(4) 7404 + 6972 = 14376 (5) 71× 243 = 17253 (6) 70× 299 = 20930

(7) 8958− 4759 = 4199 (8) 6743− 3883 = 2860 (9) 9097− 6088 = 3009

(10) 9272− 7041 = 2231 (11) 3540 + 4387 = 7927 (12) 13241− 9417 = 3824

(13) 281× 99 = 27819 (14) 3053 + 4845 = 7898 (15) 2694 + 7976 = 10670

(16) 18418− 8720 = 9698 (17) 2740 + 6204 = 8944 (18) 3505 + 9384 = 12889

(19) 9925− 826 = 9099 (20) 6816− 673 = 6143

� 13th-note �



� No.174-20-4 �

No.174-20-4 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 14506− 6846 = (2) 13501− 4962 = (3) 262× 55 =

(4) 97× 19 = (5) 11598− 1967 = (6) 8637− 4066 =

(7) 1119 + 9776 = (8) 4532 + 7599 = (9) 16374− 7600 =

(10) 10190− 4165 = (11) 99× 629 = (12) 43× 218 =

(13) 6786 + 4972 = (14) 11276− 4856 = (15) 12765− 6021 =

(16) 2302 + 2903 = (17) 3914 + 8471 = (18) 7294− 17 =

(19) 3024 + 3597 = (20) 3920 + 5822 =

� 13th-note �



� No.174-20-4 �

No.174-20-4 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 14506− 6846 = 7660 (2) 13501− 4962 = 8539 (3) 262× 55 = 14410

(4) 97× 19 = 1843 (5) 11598− 1967 = 9631 (6) 8637− 4066 = 4571

(7) 1119 + 9776 = 10895 (8) 4532 + 7599 = 12131 (9) 16374− 7600 = 8774

(10) 10190− 4165 = 6025 (11) 99× 629 = 62271 (12) 43× 218 = 9374

(13) 6786 + 4972 = 11758 (14) 11276− 4856 = 6420 (15) 12765− 6021 = 6744

(16) 2302 + 2903 = 5205 (17) 3914 + 8471 = 12385 (18) 7294− 17 = 7277

(19) 3024 + 3597 = 6621 (20) 3920 + 5822 = 9742

� 13th-note �



� No.174-20-5 �

No.174-20-5 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 12076− 7440 = (2) 3721− 1387 = (3) 879× 32 =

(4) 3528 + 5126 = (5) 69× 520 = (6) 3390 + 1527 =

(7) 2570 + 9854 = (8) 8198 + 6056 = (9) 15254− 6484 =

(10) 1603 + 5335 = (11) 3255 + 2891 = (12) 50× 355 =

(13) 2723 + 2251 = (14) 2573 + 4485 = (15) 68× 549 =

(16) 31× 23 = (17) 10533− 8559 = (18) 91× 212 =

(19) 5955 + 7253 = (20) 4549 + 4745 =

� 13th-note �



� No.174-20-5 �

No.174-20-5 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 12076− 7440 = 4636 (2) 3721− 1387 = 2334 (3) 879× 32 = 28128

(4) 3528 + 5126 = 8654 (5) 69× 520 = 35880 (6) 3390 + 1527 = 4917

(7) 2570 + 9854 = 12424 (8) 8198 + 6056 = 14254 (9) 15254− 6484 = 8770

(10) 1603 + 5335 = 6938 (11) 3255 + 2891 = 6146 (12) 50× 355 = 17750

(13) 2723 + 2251 = 4974 (14) 2573 + 4485 = 7058 (15) 68× 549 = 37332

(16) 31× 23 = 713 (17) 10533− 8559 = 1974 (18) 91× 212 = 19292

(19) 5955 + 7253 = 13208 (20) 4549 + 4745 = 9294

� 13th-note �



� No.174-20-6 �

No.174-20-6 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 7730− 66 = (2) 214× 76 = (3) 3867 + 7396 =

(4) 8228 + 7901 = (5) 2336 + 8266 = (6) 9878 + 3094 =

(7) 3801 + 4212 = (8) 61× 219 = (9) 315× 57 =

(10) 7335− 6585 = (11) 12197− 5271 = (12) 8455− 2492 =

(13) 3095− 2142 = (14) 64× 261 = (15) 15712− 9277 =

(16) 57× 769 = (17) 13990− 6943 = (18) 924× 47 =

(19) 2231 + 2973 = (20) 44× 765 =

� 13th-note �



� No.174-20-6 �

No.174-20-6 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 7730− 66 = 7664 (2) 214× 76 = 16264 (3) 3867 + 7396 = 11263

(4) 8228 + 7901 = 16129 (5) 2336 + 8266 = 10602 (6) 9878 + 3094 = 12972

(7) 3801 + 4212 = 8013 (8) 61× 219 = 13359 (9) 315× 57 = 17955

(10) 7335− 6585 = 750 (11) 12197− 5271 = 6926 (12) 8455− 2492 = 5963

(13) 3095− 2142 = 953 (14) 64× 261 = 16704 (15) 15712− 9277 = 6435

(16) 57× 769 = 43833 (17) 13990− 6943 = 7047 (18) 924× 47 = 43428

(19) 2231 + 2973 = 5204 (20) 44× 765 = 33660

� 13th-note �



� No.174-20-7 �

No.174-20-7 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 9844− 932 = (2) 1202− 186 = (3) 2540 + 4662 =

(4) 90× 765 = (5) 3687 + 6153 = (6) 536× 93 =

(7) 254× 40 = (8) 7234− 3475 = (9) 49× 559 =

(10) 3190− 3088 = (11) 9084− 2886 = (12) 831× 71 =

(13) 6320 + 2260 = (14) 9152− 3764 = (15) 443× 17 =

(16) 9219 + 2128 = (17) 16516− 8512 = (18) 39× 20 =

(19) 8450− 6032 = (20) 9129− 3442 =

� 13th-note �



� No.174-20-7 �

No.174-20-7 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 9844− 932 = 8912 (2) 1202− 186 = 1016 (3) 2540 + 4662 = 7202

(4) 90× 765 = 68850 (5) 3687 + 6153 = 9840 (6) 536× 93 = 49848

(7) 254× 40 = 10160 (8) 7234− 3475 = 3759 (9) 49× 559 = 27391

(10) 3190− 3088 = 102 (11) 9084− 2886 = 6198 (12) 831× 71 = 59001

(13) 6320 + 2260 = 8580 (14) 9152− 3764 = 5388 (15) 443× 17 = 7531

(16) 9219 + 2128 = 11347 (17) 16516− 8512 = 8004 (18) 39× 20 = 780

(19) 8450− 6032 = 2418 (20) 9129− 3442 = 5687

� 13th-note �



� No.174-20-8 �

No.174-20-8 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 6132− 557 = (2) 3195 + 8879 = (3) 7026 + 8283 =

(4) 99× 300 = (5) 6918 + 3021 = (6) 3550 + 5382 =

(7) 5532 + 1064 = (8) 75× 17 = (9) 991× 95 =

(10) 48× 430 = (11) 12962− 8572 = (12) 12× 814 =

(13) 10238− 3735 = (14) 3720 + 552 = (15) 191× 73 =

(16) 1224 + 110 = (17) 10063− 4381 = (18) 756 + 4942 =

(19) 7128 + 9797 = (20) 1595 + 2151 =

� 13th-note �



� No.174-20-8 �

No.174-20-8 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 6132− 557 = 5575 (2) 3195 + 8879 = 12074 (3) 7026 + 8283 = 15309

(4) 99× 300 = 29700 (5) 6918 + 3021 = 9939 (6) 3550 + 5382 = 8932

(7) 5532 + 1064 = 6596 (8) 75× 17 = 1275 (9) 991× 95 = 94145

(10) 48× 430 = 20640 (11) 12962− 8572 = 4390 (12) 12× 814 = 9768

(13) 10238− 3735 = 6503 (14) 3720 + 552 = 4272 (15) 191× 73 = 13943

(16) 1224 + 110 = 1334 (17) 10063− 4381 = 5682 (18) 756 + 4942 = 5698

(19) 7128 + 9797 = 16925 (20) 1595 + 2151 = 3746

� 13th-note �



� No.174-20-9 �

No.174-20-9 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 3381 + 2976 = (2) 1515 + 4156 = (3) 14059− 9626 =

(4) 22× 568 = (5) 4534− 2570 = (6) 8341 + 7657 =

(7) 12253− 6773 = (8) 796× 14 = (9) 8437− 5916 =

(10) 12183− 6580 = (11) 11647− 5503 = (12) 70× 640 =

(13) 497× 19 = (14) 1844 + 8312 = (15) 14279− 7389 =

(16) 657× 56 = (17) 10858− 5358 = (18) 14552− 5709 =

(19) 11251− 8300 = (20) 8362 + 2297 =

� 13th-note �



� No.174-20-9 �

No.174-20-9 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 3381 + 2976 = 6357 (2) 1515 + 4156 = 5671 (3) 14059− 9626 = 4433

(4) 22× 568 = 12496 (5) 4534− 2570 = 1964 (6) 8341 + 7657 = 15998

(7) 12253− 6773 = 5480 (8) 796× 14 = 11144 (9) 8437− 5916 = 2521

(10) 12183− 6580 = 5603 (11) 11647− 5503 = 6144 (12) 70× 640 = 44800

(13) 497× 19 = 9443 (14) 1844 + 8312 = 10156 (15) 14279− 7389 = 6890

(16) 657× 56 = 36792 (17) 10858− 5358 = 5500 (18) 14552− 5709 = 8843

(19) 11251− 8300 = 2951 (20) 8362 + 2297 = 10659

� 13th-note �



� No.174-20-10 �

No.174-20-10 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 1707− 696 = (2) 702× 83 = (3) 123× 91 =

(4) 12894− 3167 = (5) 11029− 4536 = (6) 8245− 328 =

(7) 3049 + 1599 = (8) 5578 + 8172 = (9) 8622− 4423 =

(10) 8801 + 6125 = (11) 17× 465 = (12) 9905 + 8684 =

(13) 22× 894 = (14) 280× 87 = (15) 325− 129 =

(16) 82× 146 = (17) 5205 + 6785 = (18) 5408 + 8924 =

(19) 255× 41 = (20) 77× 596 =

� 13th-note �



� No.174-20-10 �

No.174-20-10 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 1707− 696 = 1011 (2) 702× 83 = 58266 (3) 123× 91 = 11193

(4) 12894− 3167 = 9727 (5) 11029− 4536 = 6493 (6) 8245− 328 = 7917

(7) 3049 + 1599 = 4648 (8) 5578 + 8172 = 13750 (9) 8622− 4423 = 4199

(10) 8801 + 6125 = 14926 (11) 17× 465 = 7905 (12) 9905 + 8684 = 18589

(13) 22× 894 = 19668 (14) 280× 87 = 24360 (15) 325− 129 = 196

(16) 82× 146 = 11972 (17) 5205 + 6785 = 11990 (18) 5408 + 8924 = 14332

(19) 255× 41 = 10455 (20) 77× 596 = 45892

� 13th-note �


